
N
BELL CREEK

MUNBURA RD

TO SARINA HOME BUSH RD.

COORDINATES:

LAT     -21.334170
LONG 149.144740

FROM BRUCE HWY

MUNBURA RD

NORTH

MGA 94/2020

PRINT NAME Dr. FARHAD NABAVI & RPEQ 20038

A.H.D.

AMENDMENTS AND REVISIONS
DESCRIPTIONNO. DATE DRAWN APPROVED

LEVEL DATUM

HOR. DATUM / DATE

SURVEY FILE No

SURVEYED BY

WORKS JOB No.

DRAWING No. AMEND.

DRAWN

DESIGNED

CHECKED SIGNED

SIGNED

SIGNED

MANAGER / CO-ORDINATOR

SCALES  (A1) DATE

DATE

DATE

ASSET OWNER

DATE
CERTIFIED

DATEDATE

NH FN

1

AS-CONSTRUCTED DRAWINGS1 26/04/23

-

-

TECHNOCRETETECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

26/04/23

26/04/23

MACKAY REGIONAL COUNCIL

ABN: 12 620 585 391

info@technocrete.com.au

PHONE: 02 60 214 406    MOBILE: 0413 027 015

OFFICE 3 & 4, SUITE 1B, 508 SWIFT ST, 
ALBURY, NSW, 2640

https://technocrete.com.au

BALBERRA BRIDGE
MUNBURA RD BALBERRA BRIDGE OVER BELL CK AT CH.6140

(ASSET ID BRDG12287) AS-CONSTRUCTED DRAWINGS

TC22-P33026/04/23

26/04/23

S00COVER SHEET, BRIDGE LOCATION, DRAWING INDEX

BALBERRA BRIDGE 
ASSET ID BRDG12287, AS-CONSTRUCTED DRAWINGS

DRAWING INDEX
DWG NO. TITLE

S00 COVER SHEET, BRIDGE LOCATION, DRAWING INDEX
S01 BRIDGE PLAN & ELEVATION
S02 ABUTMENT A1 & PIER P1 & DETAILS
S03 PIER P2, P3 & DETAILS
S04 ABUTMENT A2 & PIER P4 & DETAILS

SCALE 1 : 150

BRIDGE LOCATION

1:150

AS-CONSTRUCTED

SHEET 1 OF 5

3 60 9 m



NN A1 P1

S01

2BRIDGE ELV.

P2 P3

S1
5300

S2
8400

S3
7500

S4
7500

S5
5300

34000
NORTH

AP 2

S02

A

S02

B

S03

C

P4 A2

AP 1

S03

D S04

F

K20
0

W
S

43
50

K20
0

47
50

71
50

T.P
-1

T.P
-1

T.P
-2

T.P
-2

T.P
-2

T.P
-2

T.P
-1

T.P
-3

T.P
-3

T.P
-1

T.P
-1

T.P
-1

T.P
-1

T.P
-1

S.P
-2

S.P
-2

S.P
-2

S.P
-2

S.P
-2

S.P
-2

S.P
-2

S.P
-2

S.P
-2

T.P
-1

S.P
-1

S.P
-1

T.P
-2

T.P
-2

S.P
-1

S.P
-1

---

E.

S03

S.P
-3

A1 P1

S1
5300

S2
8400

S3
7500

S4
7500

S5
5300

P2 P3

34000

S02

A

S02

B

S03

C

AP 1

OCTAGONAL TIMBER 
GIRDER (G1) - 450mm DIA.

P4 A2S03

D

S04

F

AP 2

CREEK

WATER LVL

CONCRETE KERB

OCTAGONAL TIMBER CORBEL 
(COR-1) - 400mm DIA.

150mm PLYWOOD DECK

STEEL HEADSTOCK (H.S-1):
DOUBLE 300 PFC

H.S-1

H.S-1

H.S-1

TIMBER HEADSTOCK (H.S-2):
DOUBLE 300x200 LVL

GUARDRAILS NOT SHOWN FOR CLARITY.

---

E.

S04

N.G.L
N.G.L

MGA 94/2020

PRINT NAME Dr. FARHAD NABAVI & RPEQ 20038

A.H.D.

AMENDMENTS AND REVISIONS
DESCRIPTIONNO. DATE DRAWN APPROVED

LEVEL DATUM

HOR. DATUM / DATE

SURVEY FILE No

SURVEYED BY

WORKS JOB No.

DRAWING No. AMEND.

DRAWN

DESIGNED

CHECKED SIGNED

SIGNED

SIGNED

MANAGER / CO-ORDINATOR

SCALES  (A1) DATE

DATE

DATE

ASSET OWNER

DATE
CERTIFIED

DATEDATE

NH FN

1

AS-CONSTRUCTED DRAWINGS1 26/04/23

-

-

TECHNOCRETETECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

26/04/23

26/04/23

MACKAY REGIONAL COUNCIL

ABN: 12 620 585 391

info@technocrete.com.au

PHONE: 02 60 214 406    MOBILE: 0413 027 015

OFFICE 3 & 4, SUITE 1B, 508 SWIFT ST, 
ALBURY, NSW, 2640

https://technocrete.com.au

BALBERRA BRIDGE
MUNBURA RD BALBERRA BRIDGE OVER BELL CK AT CH.6140

(ASSET ID BRDG12287) AS-CONSTRUCTED DRAWINGS

TC22-P33026/04/23

26/04/23

S01BRIDGE PLAN & ELEVATION

SCALE 1 : 75

BRIDGE PLAN

SCALE 1 : 75

BRIDGE ELV.

PILE SCHEDULE
TYPE SECTION DESCRIPTION
S.P-1 410 UB 60 STEEL PILE
S.P-2 310 UC 97 STEEL PILE
S.P-3 250 UC 73 STEEL PILE
T.P-1 Φ300mm TIMBER PILE
T.P-2 Φ400mm TIMBER PILE
T.P-3 Φ300mm TIMBER PILE

1:75

SHEET 2 OF 5

AS-CONSTRUCTED

GIRDERS & HEADSTOCK SCHEDULE

TYPE SECTION DESCRIPTION

G1 450mm DIA. OCTAGON TIMBER GIRDER @1433mm 
COR-1 400mm DIA. OCTAGON TIMBER CORBEL @1433mm 

H.S-1 DOUBLE 300 PFC STEEL HEADSTOCK

H.S-2 DOUBLE 300x200 LVL TIMBER HEADSTOCK

BR-1 DOUBLE 230 PFC STEEL BRACING

WL-1 DOUBLE 150 PFC STEEL WALE

WL-2 DOUBLE 230 PFC STEEL WALE

WL-3 DOUBLE 170x75 LVL TIMBER WALE

BR-2 TIMBER BRACINGDOUBLE 150x75 LVL

1.5 3m0



WEARING 
SURFACE 150mm 

PLYWOOD DECK
GIRDER (G1)

H.S-1

ABUTMENT 'A1' ELEVATION

M20 ANCHOR BOLT

H.S

T.P
-1

S.P
-1

T.P
-1 T.P

-1

S.P
-1

520 2393 2393 520

200x100 RHS

M20 ANCHOR BOLT

10mm STIFFENER @1000 CTRS

200 4350 200

4750

7150

30
0

45
0

15
0

25
0

11
50

S03

A-1

5826

WALE ON BOTH SIDE OF 
THE PIER (WL-1): 2x150 PFC

PIER 'P1' ELEVATION

S02

B-1

S.P
-2

T.P
-2

T.P
-2

S.P
-2

T.P
-2

S.P
-2

WEARING 
SURFACE 150mm 

PLYWOOD DECK

GIRDER (G1)

CORBEL 
(COR-1)

H.S-1

STIFFENER
t=10mm @1000 CTRS

ANCHOR BOLTS M20

BRACING ON BOTH SIDE OF 
THE PIER (BR-1): 2x230 PFC

200 4350 200

4750

7150

20
00

30
0

40
0

45
0

15
0

25
0

35
50

600 2600 353 2080 600

6233

BR-1 BR-1

PIER - DECK CONNECTION

200

50

150mm THICK 
PLYWOOD DECKING

4 - M24 x 1000 LONG
CORBEL BOLTS

GIRDER (G1)

CORBEL (COR-1)

2 - M16 x 1355 LONG
ANCHOR BOLTS

2 - 300 PFC HEADSTOCK (H.S-1)

100x50 RHS 

400 400

200

PILE

15
0

45
0

40
0

30
0

50

10
00

35
0

ANCHOR BOLT. REFER TO 
EACH SECTION FOR DIA.

150mm THICK 
PLYWOOD DECKING

4 - M24 x 600 LONG
GIRDER BOLTS 450

450mm DIA. GIRDER

MGA 94/2020

PRINT NAME Dr. FARHAD NABAVI & RPEQ 20038

A.H.D.

AMENDMENTS AND REVISIONS
DESCRIPTIONNO. DATE DRAWN APPROVED

LEVEL DATUM

HOR. DATUM / DATE

SURVEY FILE No

SURVEYED BY

WORKS JOB No.

DRAWING No. AMEND.

DRAWN

DESIGNED

CHECKED SIGNED

SIGNED

SIGNED

MANAGER / CO-ORDINATOR

SCALES  (A1) DATE

DATE

DATE

ASSET OWNER

DATE
CERTIFIED

DATEDATE

NH FN

1

AS-CONSTRUCTED DRAWINGS1 26/04/23

-

-

TECHNOCRETETECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

26/04/23

26/04/23

MACKAY REGIONAL COUNCIL

ABN: 12 620 585 391

info@technocrete.com.au

PHONE: 02 60 214 406    MOBILE: 0413 027 015

OFFICE 3 & 4, SUITE 1B, 508 SWIFT ST, 
ALBURY, NSW, 2640

https://technocrete.com.au

BALBERRA BRIDGE
MUNBURA RD BALBERRA BRIDGE OVER BELL CK AT CH.6140

(ASSET ID BRDG12287) AS-CONSTRUCTED DRAWINGS

TC22-P33026/04/23

26/04/23

S02ABUTMENT A1 & PIER P1 & DETAILS

SECTION
SCALE: _1 : 20 S01

A

SECTION
SCALE: _1 : 25 S01

B

SHEET 3 OF 5

AS-CONSTRUCTED

SECTION
SCALE: _1 : 10 S02

B-1

SCALE 1 : 10

GIRDER - DECK CONNECTION



ANCHOR BOLTS: M20

WALE ON BOTH SIDE OF 
THE PIER (WL-1): 2x150 PFC

PIER 'P3' ELEVATION

WEARING 
SURFACE

150mm 
PLYWOOD DECK

GIRDER (G1)

CORBEL 
(COR-1)

BRACING ON BOTH SIDE OF 
THE PIER (BR-2): 2-150x75 LVL

H.S-1

WALE ON BOTH SIDE OF THE 
PIER (WL-3): 2- 170x75 LVL

STIFFENER
t=10mm @900 CTRS

200 4350 200

4750

7150

23
5

17
0

15
0

33
85

30
0

40
0

45
0

15
0

25
0

54
90

S.P
-2

T.P
-1

T.P
-1

T.P
-1

S.P
-2

440 2455 2535 400

5830

PIER 'P2' ELEVATION

17
01

50
16

84
17

0
23

1
13

00
30

0
40

0
45

0
15

0
25

0

WALE ON BOTH SIDE OF 
THE PIER (WL-2): 2-230 PFC

WEARING 
SURFACE

150mm 
PLYWOOD DECK

GIRDER (G1)

CORBEL 
(COR-1)

H.S-1

STIFFENER
t=10mm @900 CTRS

BRACING ON BOTH 
SIDE OF THE PIER 
(BR-2): 2-150x75 LVL

BR-2 BR-2

BR-2

BR-2

WALE ON BOTH SIDE OF THE 
PIER (WL-3): 2-170x75 LVL

STIFFENER
t=10mm @1000 CTRS

S.P
-2

T.P
-1

T.P
-3

T.P
-3

S.P
-2

WALE ON BOTH SIDE OF THE 
PIER (WL-1): 2x150 PFC

WALE ON BOTH SIDE OF THE 
PIER (WL-3): 2-170x75 LVL

ANCHOR BOLTS: M20

200 4350 200

4750

7150

600 2215 2715 465

5995

52
55

C150

ABUTMENT 'A1' TO DECK CONNECTION

150mm THICK 
PLYWOOD DECKING

GIRDER (G1)

2 - 300 PFC HEADSTOCK (H.S-1)

200x100 RHS

15
0

45
0

30
0

10
0

10
00

M24 x 1000 LONG
ANCHOR BOLT

M20 ANCHOR BOLT

PILE

MGA 94/2020

PRINT NAME Dr. FARHAD NABAVI & RPEQ 20038

A.H.D.

AMENDMENTS AND REVISIONS
DESCRIPTIONNO. DATE DRAWN APPROVED

LEVEL DATUM

HOR. DATUM / DATE

SURVEY FILE No

SURVEYED BY

WORKS JOB No.

DRAWING No. AMEND.

DRAWN

DESIGNED

CHECKED SIGNED

SIGNED

SIGNED

MANAGER / CO-ORDINATOR

SCALES  (A1) DATE

DATE

DATE

ASSET OWNER

DATE
CERTIFIED

DATEDATE

NH FN

1

AS-CONSTRUCTED DRAWINGS1 26/04/23

-

-

TECHNOCRETETECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

26/04/23

26/04/23

MACKAY REGIONAL COUNCIL

ABN: 12 620 585 391

info@technocrete.com.au

PHONE: 02 60 214 406    MOBILE: 0413 027 015

OFFICE 3 & 4, SUITE 1B, 508 SWIFT ST, 
ALBURY, NSW, 2640

https://technocrete.com.au

BALBERRA BRIDGE
MUNBURA RD BALBERRA BRIDGE OVER BELL CK AT CH.6140

(ASSET ID BRDG12287) AS-CONSTRUCTED DRAWINGS

TC22-P33026/04/23

26/04/23

S03PIER P2, P3 & DETAILS

SECTION
SCALE: _1 : 25 S01

D

SECTION
SCALE: _1 : 25 S01

C

AS-CONSTRUCTED

SECTION
SCALE: _1 : 10 S02

A-1

SHEET 4 OF 5



12
90

PIER 'P4' ELEVATION

ANCHOR BOLTS: M20

WALE ON BOTH SIDE OF 
THE PIER (WL-1): 2x150 PFC

WEARING 
SURFACE

150mm 
PLYWOOD DECK

GIRDER (G1)

CORBEL 
(COR-1)

H.S-1

STIFFENER
t=10mm @900 CTRS

BR-1

BR-1

BRACING ON BOTH SIDE OF 
THE PIER (BR-1): 2x230 PFC

STIFFENER
t=10mm @1000 CTRS

S.P
-2

T.P
-1

S.P
-3

T.P
-1

S.P
-2

C150
100x50 RHS

200 4350 200

4750

7568

700 1920 3190 400

6210

15
0

15
0

12
90

30
0

40
0

45
0

15
0

25
0

31
40

S04

F-1

ABUTMENT 'A2' ELEVATION

WEARING 
SURFACE

150mm 
PLYWOOD DECK

GIRDER (G1)

TIMBER HEADSTOCK (H.S-2)

30
0

ABUTMENT SHEETING

STEEL PLATE
900x350

M25 ANCHOR BOLT

M20 ANCHOR BOLT

S.P
-1

T.P
-2

T.P
-2

T.P
-2

S.P
-1

200 4350 200

4750

25
0

15
0

45
0

30
0

17
10

28
60

ABUTMENT 'A2' TO DECK CONNECTION

150mm THICK 
PLYWOOD DECKING

GIRDER (G1)

2 - 300x200 LVL (H.S-2)

2-M24 x 900 LONG
ANCHOR BOLT

M24 ANCHOR BOLT

PILE

30
0

45
0

15
0

90
0

MGA 94/2020

PRINT NAME Dr. FARHAD NABAVI & RPEQ 20038

A.H.D.

AMENDMENTS AND REVISIONS
DESCRIPTIONNO. DATE DRAWN APPROVED

LEVEL DATUM

HOR. DATUM / DATE

SURVEY FILE No

SURVEYED BY

WORKS JOB No.

DRAWING No. AMEND.

DRAWN

DESIGNED

CHECKED SIGNED

SIGNED

SIGNED

MANAGER / CO-ORDINATOR

SCALES  (A1) DATE

DATE

DATE

ASSET OWNER

DATE
CERTIFIED

DATEDATE

NH FN

1

AS-CONSTRUCTED DRAWINGS1 26/04/23

-

-

TECHNOCRETETECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

TECHNOCRETE

26/04/23

26/04/23

MACKAY REGIONAL COUNCIL

ABN: 12 620 585 391

info@technocrete.com.au

PHONE: 02 60 214 406    MOBILE: 0413 027 015

OFFICE 3 & 4, SUITE 1B, 508 SWIFT ST, 
ALBURY, NSW, 2640

https://technocrete.com.au

BALBERRA BRIDGE
MUNBURA RD BALBERRA BRIDGE OVER BELL CK AT CH.6140

(ASSET ID BRDG12287) AS-CONSTRUCTED DRAWINGS

TC22-P33026/04/23

26/04/23

S04ABUTMENT A2 & PIER P4 & DETAILS

SECTION
SCALE: _1 : 20

E

SECTION
SCALE: _1 : 20 S01

F

S01

AS-CONSTRUCTED

SECTION
SCALE: _1 : 10 S04

F-1

S01

SHEET 5 OF 5


	Sheets
	S00 - COVER SHEET, BRIDGE LOCATION, DRAWING INDEX
	S01 - BRIDGE PLAN & ELEVATION
	S02 - ABUTMENT A1 & PIER P1 & DETAILS
	S03 - PIER P2, P3 & DETAILS
	S04 - ABUTMENT A2 & PIER P4 & DETAILS


